AHC Review Officer RO 5 JAN

Topic:- RO_GA_05JAN_SH2_S2

1) Select the option that is related to the third number in the same way as the second number is related to the first
number

36:109::25: _
3 frpeu ot riel BIBRI Sl b dixrdl Jen @ At 331 8 J31 3 SiRl grdl Iz usell A @ A1 g4 3
36:109::25:

[Question ID = 1][Question Description = RO_8_ENG-HIN_Q_001]
1. 70

[Option ID = 1]
2. 72

[Option ID = 2]
3. 75

[Option ID = 3]
4. 76

[Option ID = 4]

2) Select the option that is related to the third term in the same way as the second term is related to the first term
CJR : ENX :: FLP:

3 faepeu ot w161 BIfvIe Sl 6 R uc & rer Sl §3 & 3T 31 SIRA g3 US & AT ST 3
CJR: ENX :: FLP:

[Question ID = 2][Question Description = RO_8_ENG-HIN_Q_002]

1. HPV

[Option ID = 5]
2. IPU

[Option ID = 6]
3. IPV

[Option ID = 7]
4. HPU

[Option ID = 8]

3) Select the number pair in which the two numbers are related in the same way as are the two numbers of the following

number pair :
10 : 28

1&R1 oRI faea 3 3 O AR YoH DI TRIel DIfSIe BR16 Sloll AT S G0 81 J3T 8l i b 3¢18201 a3 13U 31u JT-Yod &t HWAT B &
10 : 28

[Question ID = 3][Question Description = RO_8_ENG-HIN_Q_003]

1. 17:65

[Option ID = 9]
2. 15:65

[Option ID = 10]
3. 12:33

[Option ID = 11]
4. 25:79

[Option ID = 12]

4) Three of the following terms are alike in a certain way. Find the odd one out.



fogsifeiRaa ucl 3 A dicl v fA9y adld 3 el 3 J3XeT DI I Fifdre

[Question ID = 4][Question Description = RO_8_ENG-HIN_Q_004]
1. K
[Option ID = 13]
2. T
[Option ID = 14]
3. C

[Option ID = 15]
4. Y

[Option ID = 16]
5) Three of the following four numbers are alike in a certain way and one is different. Find the odd one out.

forgarfciRaa ar A3l 3 A dicl v [y afd A eIl 3 I DI S HifSre

[Question ID = 5][Question Description = RO_8_ENG-HIN_Q_005]

1. 1260

[Option ID = 17]
2. 1156

[Option ID = 18]
3. 2601

[Option ID = 19]
4. 1849

[Option ID = 20]
6) In a code language, CABLE is written as GAFPE. How will TRAIN be written in the same language ?

up ¢ uer 3 'CABLE', 'GAFPE' @ u 3 ferar srm 3 321 simar af "'TRAIN' @21 ferzn sid¥en ?[Question ID = 6][Question Description =

RO_8_ENG-HIN_Q_006]
1. XVEMR [Option ID = 21]
2. XVAIR [Option ID = 22]

3. XVAMR [Option ID = 23]
4. XVEIR [Option ID = 24]

7) If AS = 19 and BAT = 40, then DEAF =

afe AS = 19 3iiz BAT = 40, aa DEAF = [Question ID = 7][Question Description = RO_8_ENG-HIN_Q_007]
1. 180 [Option ID = 25]
2. 190 [Option ID = 26]
3. 160 [Option ID = 27]
4. 120 [Option ID = 28]

8) Which number will replace the question mark (?) in the following series ?
3,8,6,11,9,14,12,7?

forrarferRaa gz o d yosl Ria(?) &l SP1e UR YT Blol diell IR Pl TRI6l DI
3,8,6,11,9, 14, 12,7

[Question ID = 8][Question Description = RO_8_ENG-HIN_Q_008]

1. 18

[Option ID = 29]
2. 15

[Option ID = 30]
3. 16

[Option ID = 31]
4. 17

[Option ID = 32]

9) Select the letter cluster that will replace the question mark (?) in the following series.
JAM, KEL, LIK, MOJ, ?



forsaiferRaa gfzaen @ 3 Yeorara® e (?) bl ST YT dlol dicl avi-3E dI aRIol HIfSTe
JAM, KEL, LIK, MOJ, ?

[Question ID = 9][Question Description = RO_8_ENG-HIN_Q_009]

1. NRI

[Option ID = 33]
2. NQI

[Option ID = 34]
3. NPI

[Option ID = 35]
4. NUI

[Option ID = 36]

10) Study the pattern and replace the question mark (?) from the given alternatives

forratfeIRaa Yrpu ol 3R B, Ysifils (?7) bl sele ggep dlol drcl firdbeda ol <riel Hifsie

25 | 36 | 49
12 | 13 | 15
17 | 19 | ?

[Question ID = 10][Question Description = RO_8_ENG-HIN_Q_010]
1. 21 [Option ID = 37]
2. 23 [Option ID = 38]
3. 22 [Option ID = 39]
4. 24 [Option ID = 40]

11) Study the pattern carefully and select the number that can replace the question mark (?)

forgoiferRad Yreul @I &ATeIgdd 31€RI6I DD Yoifila (?) Dl Sere GRITb 8ol dlell AT DI TRIel Dhifsre

[Question ID = 11][Question Description = RO_8_ENG-HIN_Q_011]
1. 21
[Option ID = 41]
2. 27
[Option ID = 42]
3. 25

[Option ID = 43]
4. 23

[Option ID = 44]

12) A + B means A is mother of B

A - B means A is wife of B

A x B means A is brother of B

A = B means A is husband of B
IfT+V+Q-JxM+Uthen howis T relatedto J?

A+Borarefd A, Bbraid
A - B o1 3ref 3 A, B &t ucoft @
AxBmrsefd A, Borasd
A:Boraed @A, Borufrd



ART +V+Q-JxM+UZAT,JA DA AdlRad ?

[Question ID = 12][Question Description = RO_8_ENG-HIN_Q_012]

1. Father-in-law/3p

[Option ID = 45]
2. Son-in-law/swms

[Option ID = 46]
3. Father/foar

[Option ID = 47]
4. Brother/oms

[Option ID = 48]

13) In the following diagram, the triangle represents men, the circle represents graduates and rectangle represents
teachers. The numbers in different segments show the number of persons.

How many men graduates are not teachers ?

forgatferi¥aa smapfer 3, st gaul @I yfefoifdea wmdr 3, g Follddl I de AR 918rm] o1 fafeel WSI 6t AW AftpRIl DI AT SoIiedl
3
forgotferfiaa 3 A fovael Forasw gy igid odl 3 ?

3 5 4
o(e/ 5 \7\u
12

[Question ID = 13][Question Description = RO_8_ENG-HIN_Q_013]
1. 5

[Option ID = 49]
2. 17

[Option ID = 50]
3.7

[Option ID = 51]
4. 15

[Option ID = 52]

14) The Venn diagram represents which of the given alternatives.



forgatferRaa der smapfer forgaifeiRaa fasedl 3 A v aze 1 Jder gorfdl 3 ?

OO0

[Question ID = 14][Question Description = RO_8_ENG-HIN_Q_014]
1. Women, Officer, Stenographer/afaet, siférprt, sngjferftas

[Option ID = 53]
2. Flower, Stems, Roots/wet, del, S5

[Option ID = 54]
3. Table, Furniture, Carpet/ds, woffaz, g3t

[Option ID = 55]
4. Male, Doctors, Singers/gsu, sfacs, SIRIb

[Option ID = 56]

15) Three different positions of the same dice are shown below. Which number is on the face opposite the face showing 4
?

g Uy & ol firoor RFerferil ofier gorfs o 3 Jwen 4 @ faudia 31 3 @lor A vizen &7

1 5 6

h
(9%
[e—

[Question ID = 15][Question Description = RO_8_ENG-HIN_Q_015]
1. 2

[Option ID = 57]
2.3

[Option ID = 58]
3. 6

[Option ID = 59]
4.5

[Option ID = 60]

16) At the time of sunrise, Deepa and Anjum are sitting in a park with their backs facing each other. If the shadow of
Deepa falls to the right of Anjum, then in which direction is Anjum facing ?

glur 3iiz s Rl @ AHT U2 T g2 A Ulo cpnd: 38 8 | afe Siur &b sri g @ <1fdell e us 3l 8 ad 3igyd @1 s oA feon &I
ARE?

[Question ID = 16][Question Description = RO_8_ENG-HIN_Q_016]

1. North/3m=

[Option ID = 61]
2. South/sfgmr

[Option ID = 62]
3. East/gyd

[Option ID = 63]
4. West/ufa

[Option ID = 64]

17) Rohan is facing west and turns 45° clockwise, again 180° clockwise and then turns 270° clockwise. In which direction
is he facing now ?

Jzot ufds forr &bt 32 aiftgrza 3 3fik a6 45 ° sfdmad gerar 3, ik ag bRt 180 ° cfdmmad gyrar 3 siiz 3@ arc 270 ° cfdomad ggrar 3 s
az fopa feom &t aiiz sifdraa 3 ?

[Question ID = 17][Question Description = RO_8_ENG-HIN_Q_017]



1. North East /3a=-yd

[Option ID = 65]
2. North West/3t=-uf2er

[Option ID = 66]
3. South East/afsmr-gd

[Option ID = 67]
4. South West/gfér-uftmer

[Option ID = 68]

18) ¥ 1,875 is divided among A, B and C in such a way that A’s share is half of the combined share of B and C, and B’s
share is one-fourth of the combined share of A and C. By what amount is C’s share more than that of A?

1,875 X 'A’, 'B' 3iiz 'C' 3 51 adlad A fepnfoa fopu s1u fop, A’ @1 3321, ‘B’ 3l 'C' & Ayed B34 a1 smen et 3, ‘B o1 B, A’ 3R 'C' D
A BRI D 1/4 yp1 D R 3 'C’ @1 3221 'A’ @ 1331 A foaen =61 3 [Question ID = 18][Question Description = RO_8_ENG-

HIN_Q_018]

1. X500 [Option ID = 69]
2. %225 [Option ID = 70]
3. X250 [Option ID = 71]
4. %200 [Option ID = 72]

19) If ‘x’ stands for addition, ‘+’ stands for subtraction, ‘+’ stands for multiplication and ‘-’ stands for division, then what
will be the value of the following expression ?
26 +13x8+6-2

afe ‘x’, Sirs ol gorfar 3, ‘+’ @cra @ gorfar 3, ‘+’ 3N ol de ‘-’ s1eT Y colfar & dl foaifeiRaa wisie o et o=t aen ?
26 +13x8+6-2

[Question ID = 19][Question Description = RO_8_ENG-HIN_Q_019]
1. 17

[Option ID = 73]
2. 27

[Option ID = 74]
3. 37

[Option ID = 75]
4. 47

[Option ID = 76]

20) How many triangles are present in the following figure ?

St o1$ amapier 3 fopeet f8[s1 & ?

[Question ID = 20][Question Description = RO_8_ENG-HIN_Q_020]
1. 28

[Option ID = 77]
2. 30

[Option ID = 78]
3. 32

[Option ID = 79]
4. 36

[Option ID = 80]



21) In the following question, figure A is embedded in one of the four answer figures. Select the correct alternative.

forsarferRaa yeat 3, smepfer ‘A’ 3w s1u ar fecul 3 A fpfl v 3 Afda 3 A} ey o1 wrIeT HifSie

Vi

A
[Question ID = 21][Question Description = RO_8_ENG-HIN_Q_021]

[Option ID = 81]

2.

[Option ID = 82]
3.

[Option ID = 83]
4.

[Option ID = 84]

22) Select the option that is related to the third word in the same way as the second word is related to the first word.
Prose : Writing :: Lisp :

3u faea o1 Il Gifste Sit 6 iR orss A S 3t avs Fag SiA 6 usar ores g3 916 A Aag 3
Prose : Writing :: Lisp :

[Question ID = 25][Question Description = RO_8_ENG-HIN_Q_025]

1. Speech

[Option ID = 97]
2. Reading

[Option ID = 98]
3. Hearing

[Option ID = 99]
4. Drawing

[Option ID = 100]

Topic:- RO_GA_05JAN_SH2_S2_B

1) Direction for Question

According to a certain code

(I) ‘mer fer ber ger’ means ‘buses are always late’

(Il) ‘ger der cer per’ means ‘drivers were always scolded’
(lll) ‘ber cer ver rer’ means ‘drivers stopped all buses’
Which word is represented by ‘ger’ ?

gesl & fero forgon



UP P D AORIR
(I) ‘mer fer ber ger’ @ 3ref 3 ‘buses are always late’
(Il) ‘ger der cer per’ @ 3tef 3 ‘drivers were always scolded’

(1) ‘ber cer ver rer’ @1 3tef 3 ‘drivers stopped all buses’

‘ger’ GRI BIclAT 916G GOIRIT SR 3

[Question ID = 201][Question Description = RO_8_ENG-HIN_Q_022]
1. late
[Option ID = 801]
2. were
[Option ID = 802]
3. are

[Option ID = 803]
4. always

[Option ID = 804]

2) Direction for Question

According to a certain code

(I) ‘mer fer ber ger’ means ‘buses are always late’

(II) ‘ger der cer per’ means ‘drivers were always scolded’
(III) ‘ber cer ver rer’ means ‘drivers stopped all buses’
Which word is represented by ‘ger’ ?

gl @ fere forgen:

D B B IAUGRAR

(I) ‘mer fer ber ger’ @ atef 3 ‘buses are always late’

(II) ‘ger der cer per’ o 3ief 3 ‘drivers were always scolded’
(III) ‘ber cer ver rer’ o sief 3 ‘drivers stopped all buses’

Which letter code stands for ‘drivers’ ?

Dlol AT 91sc Ada 'drivers’ @ gorfar 3?7

[Question ID = 202][Question Description = RO_8_ENG-HIN_Q_023]
1. per
[Option ID = 805]
2. cer
[Option ID = 806]
3. der

[Option ID = 807]
4. ver

[Option ID = 808]

3) Direction for Question

According to a certain code

(I) ‘mer fer ber ger’ means ‘buses are always late’

(II) ‘ger der cer per’ means ‘drivers were always scolded’
(III) ‘ber cer ver rer’ means ‘drivers stopped all buses’
Which word is represented by ‘ger’ ?

gest @ fere forger:

TD DL D AR

(I) ‘mer fer ber ger’ @ aief 3 ‘buses are always late’

(II) ‘ger der cer per’ @ 3ief 3 ‘drivers were always scolded’
(III) ‘ber cer ver rer’ @ 3ief 3 ‘drivers stopped all buses’

Which word is represented by 'ber'?
'ber’ @iorRAr 9rsc PR wr 3?7

[Question ID = 203][Question Description = RO_8_ENG-HIN_Q_024]



1. buses

[Option ID = 809]
2. scolded

[Option ID = 810]
3. stopped

[Option ID = 811]
4. all

[Option ID = 812]

Topic:- RO_COMP_05JAN_SH2_S2
1) Breaking logical memory into blocks of the same size is called :

aifdbas FARUINIRD HAMHIGT IBR @ Fs d fnfSia aor @I o= et Sirar 3 ?

[Question ID = 26][Question Description = RO_8_ENG-HIN_Q_026]
1. Frames/wa

[Option ID = 101]
2. Segments/3sdic

[Option ID = 102]
3. Packets/tdca

[Option ID = 103]
4. Pages/yts

[Option ID = 104]
2) Which are the two major file system in Microsoft Windows ?

FARIRRITTC &GS @ <1 yga ke dq (wria RiR<a) ®diorr 8 ?

[Question ID = 27][Question Description = RO_8_ENG-HIN_Q_027]
1. FAT32 and NTFS

[Option ID = 105]
2. HFS and UFS

[Option ID = 106]
3. XFS and EXT3

[Option ID = 107]
4. UDF and ZFS

[Option ID = 108]
3) Which of the following devices join multiple computers together within one LAN ?

forgaifeiRaa aRifr 3 A1 Blerr =iq 3ol HowId ®I Ub LAN (clor) 21 wenfqa o2ar 3 ?[Question ID = 28][Question Description =
RO_8_ENG-HIN_Q_028]

1. Repeater/goRmad® [Option ID = 109]

2. Hub/aufar [Option 1D = 110]

3. Router/3mssez [Option ID = 111]

4. Switch/f¥aa [Option ID = 112]

4) How many bits are there in an Ethernet address ?

TP $eRolc Ud 3 fipaor gzt a8l 3 ?[Question ID = 29][Question Description = RO_8_ENG-HIN_Q_029]
64 bits/64 ficer [Option ID = 113]
48 bits/48 facar [Option ID = 114]
32 bits/32 Rzt [Option ID = 115]
16 bits/16 fcr [Option ID = 116]

AW N =

5) Which of the following executes computer commands ?

forgsiferR3ae 3 3 Plol oD FATSIT BRIifoad war & ?[Question ID = 30][Question Description = RO_8_ENG-HIN_Q_030]



. Arithmetic unit/sifésar fore [Option ID = 117]

. Logic unit/aa fsre [Option ID = 118]

. Control unit/feriqur gfere [Option ID = 119]

. Both Arithmetic unit and Logic unit/sifdsr fore i ad yfore [Option ID = 120]

A W N -

6) Which protocol provides E-mail facility among different hosts ?

DIGIAI JcRA 3ol HeIdrel 3 3 '$-3cr Aar yaers & 7[Question ID = 31][Question Description = RO_8_ENG-HIN_Q_031]
1. SMTP/warescidt (SMTP) [Option ID = 121]

2. FTP/ewdhdt (FTP) [Option ID = 122]

3. TELNET/2ewic (TELNET) [Option ID = 123]

4. SNMP/waworesdt [Option ID = 124]

7) Which of the following is the fastest communication channel ?

forgorferRaa 3 A AGA ST AR Aolcl Blol AT 3 ?
[Question ID = 32][Question Description = RO_8_ENG-HIN_Q_032]
1. Radio wave/3f=1 a1

[Option ID = 125]
2. Microwave/3ga azr

[Option ID = 126]
3. Optical fibre/yepifors e,

[Option ID = 127]
4. All are operating at nearly the same propagation speed/2uft ciomsier v &t YRl doT D 3

[Option ID = 128]
8) is one reason for problems of data integrity.

st 9IRIAr I I3 DT TH BRUT &

[Question ID = 33][Question Description = RO_8_ENG-HIN_Q_033]
1. Data redundancy/wreiq Ser
[Option ID = 129]
2. Data inconsistency/smem el &t sRivrd
[Option ID = 130]
3. Security constraints/Rigraar @r yferder

[Option ID = 131]
4. Unauthorized access of data/smer Jmwmft @1 3rder gaor

[Option ID = 132]
9) How many types of arithmetic operations does the ALU of computer perform?

JHorures 1 vuery (ALU) fpael yor @ sifésar garerar @wzar 3 ?[Question ID = 34][Question Description = RO_8_ENG-HIN_Q_034]
. 4 [Option ID = 133]
. 2 [Option ID = 134]
. 5 [Option ID = 135]
. 8 [Option ID = 136]

A W N -

10) India’s first Hi-speed Rural Broadband Network has been commissioned in :

HRA DI YAHA 315-3UIS s3Il fegd JIsds olcdds DioRl IS @ frct 3 ORI oo s 3 ?

[Question ID = 35][Question Description = RO_8_ENG-HIN_Q_035]
1. Kerala/a@3e

[Option ID = 137]
2. Karnataka/wpeifcas

[Option ID = 138]
3. Telangana/dcisTron

[Option ID = 139]
4. Andhra Pradesh/arie] gger



[Option ID = 140]
11) is the most important / powerful computer in a typical network.

o fafdree sleads 3 1Rt #ecayyt / orfeporreht Ferre 3

[Question ID = 36][Question Description = RO_8_ENG-HIN_Q_036]
1. Desktop/33awciu

[Option ID = 141]
2. Network client/dlcad® dacmse

[Option ID = 142]
3. Network server/dlcas® a2

[Option ID = 143]
4. Network station/olcas eorer

[Option ID = 144]
12) What type of resource is most likely to be a shared common resource in a computer network ?

JPIUID olcad 3 {51 YDPR D IA1elel AT fPU Sitel bl AR Ui AHsiidol & ?
[Question ID = 37][Question Description = RO_8_ENG-HIN_Q_037]
1. Keyboards/astiucet

[Option ID = 145]
2. Speakers/3dtaat

[Option ID = 146]
3. Floppy disk drives/uciidt 3@ smset

[Option ID = 147]
4. Printers/dicst

[Option ID = 148]
13) Pick the odd one out -

friora gfore
[Question ID = 38][Question Description = RO_8_ENG-HIN_Q_038]
1. UNIX/gfora=t

[Option ID = 149]
2. MS-DOS/vamsi-Skr

[Option ID = 150]
3. WINDOWS 98/fdesrst 98

[Option ID = 151]
4. ACCESS/vat

[Option ID = 152]
14) Which process checks to ensure that the components of the computer are operating and connected properly ?

JOIUID D TcD S Re A I3 9K 3 3iI2 Yaferd 3l sRI 3, A Dloril gfdpn usiervr Jforfira ot 8 ?
[Question ID = 39][Question Description = RO_8_ENG-HIN_Q_039]
1. Booting/gfésr

[Option ID = 153]
2. Processing/qrif3st

[Option ID = 154]
3. Saving/s@a

[Option ID = 155]
4. Editing/3urcer

[Option ID = 156]

15) The process of preparing a floppy diskette for use is called :



Feifdl 3¥dde @l IURIPI @ R TRIR Bl D AATerel Bl

[Question ID = 40][Question Description = RO_8_ENG-HIN_Q_040]
1. assembling/3isor

[Option ID = 157]
2. translating/sreparG

[Option ID = 158]
3. parsing/aiRica

[Option ID = 159]
4. formatting/wiafdst

[Option ID = 160]
16) A contains specific rules and words that express the logical steps of an algorithm.

wcaliica @ awmolg faazur, fafdre form iz orsct 3 aanfaee 3

[Question ID = 41][Question Description = RO_8_ENG-HIN_Q_041]
1. Programming language/@ucorel o1eT

[Option ID = 161]

2. Programming structure/@macrel rar
[Option ID = 162]

3. Syntax/arrifdeRmt

[Option ID = 163]
4. Logic chart/aas ard

[Option ID = 164]
17) The controls communications for the entire computer system.

Jigut eI wraven @1 Har forifea war & [Question ID = 42][Question Description = RO_8_ENG-HIN_Q_042]
. ALU/ueerg [Option ID = 165]
. Semiconductor/siefareias [Option ID = 166]
. Motherboard/az @IS [Option ID = 167]
Coprocessor /= [Option ID = 168]

A W N -

18) Which of the following devices has a limitation that it can only be read but not erased or modified ?

forgoiferRaa 3 3 DlerR1 IumT 3 V=l e 3, PRID TR ad R16 us ADd 3 [og @I e o8l AP 3z 33 Brager sht o8l B2 D ?
[Question ID = 43][Question Description = RO_8_ENG-HIN_Q_043]
1. Tape drive/2u ga

[Option ID = 169]
2. Hard drive/arS sisa

[Option ID = 170]
3. Compact disk/@ridc @

[Option ID = 171]
4. Floppy disk/uciidt f3¥am

[Option ID = 172]
19) Which of the following memories refresh many times per second?

sifa fou a1u 3 A Bloril AR gl ABs 36Id aR o Jol Sl 3 ?

[Question ID = 44][Question Description = RO_8_ENG-HIN_Q_044]

1. EPROM/EPROM

[Option ID = 173]
2. ROM/ROM

[Option ID = 174]
3. Static RAM/Rer RAM

[Option ID = 175]
4. Dynamic RAM/aiferelier RAM



[Option ID = 176]
20) In MICR, C stands for

MICR 3 C =11 Jfera o & ?

[Question ID = 45][Question Description = RO_8_ENG-HIN_Q_045]
1. Code
[Option ID = 177]
2. Colour
[Option ID = 178]
3. Computer

[Option ID = 179]
4. Character

[Option ID = 180]
21) In MS-word, short cut for displaying the full page as they are printed is :

U U a3 3, yto I ffc @l 3w, guf goo ol yeldfa o1 @ fere o= e 2ar (short-cut) 3?[Question ID = 46][Question
Description = RO_8_ENG-HIN_Q_046]

Ctrl + F2 [Option ID = 181]

Ctrl + F1 [Option ID = 182]

. Shift + F2 [Option ID = 183]

. Shift + F1 [Option ID = 184]

A W N -

22) A computer executes programs in the sequence :

oI @I DRIfcala @l @I 3refdpd:[Question ID = 47][Question Description = RO_8_ENG-HIN_Q_047]
1. Store, Fetch, Execute/3d3R, b4, ufdsiage [Option ID = 185]

2. Fetch, Decode, Execute/wd, Siwls, ufdsiaze [Option ID = 186]

3. Execute, Fetch, Decode/ufdsiayje, wa, Slors [Option ID = 187]

4. Decode, Fetch, Execute/Slors, wa, effsrae [Option ID = 188]

Topic:- RO_ENG_05JAN_SH2_S2

1) Fill in the blanks with an appropriate option :

He died fighting behalf his country.[Question ID = 48][Question Description = RO_8_ENG-HIN_Q_048]
1. for, of [Option ID = 189]

2. on, of [Option ID = 190]

3. in, of [Option ID = 191]

4. on, for [Option ID = 192]

2) Choose the correct option which has the same relation like that in the given words :

haphazard : methodical :: arduous : [Question ID = 49][Question Description = RO_8_ENG-HIN_Q_049]
gruelling [Option ID = 193]

hellacious [Option ID = 194]

strenuous [Option ID = 195]

facile [Option ID = 196]

A W N -

3) Convert the following sentence into Simple Past Tense :

Sohrab rushes forward to help the old lady cross the road.[Question ID = 50][Question Description = RO_8_ENG-HIN_Q_050]
1. Sohrab had rushed forward to help the old lady cross the road. [Option ID = 197]

2. Sohrab rushed forward to help the old lady cross the road. [Option ID = 198]

3. Sohrab was rushing forward to help the old lady cross the road. [Option ID = 199]

4. Sohrab is rushing forward to help the old lady cross the road/Sohrab is rushing forward to help the old lady cross the road. [Option ID = 200]



4 In the given question, find out which part of the sentences (I /II/ III) has an

error. In case of ‘No error’ answer would be IV.
Choose the correct option accordingly.

Each of them / had a different version / of the crime / No error
1 11 I11 IV

[Question ID = 51][Question Description = RO_8_ENG-HIN_Q_051]
| [Option ID = 201]

Il [Option ID = 202]

. 11l [Option ID = 203]

. IV [Option ID = 204]

A W N =

5) Choose the correctly spelt word from the following :[Question ID = 52][Question Description = RO_8_ENG-HIN_Q_052]
Acquaintence [Option ID = 205]

Aquaintence [Option ID = 206]

Acquaintance [Option ID = 207]

Aquaintance [Option ID = 208]

A W N -

6) What is the correct meaning of ‘spurious’ in the following sentence ?

The official was arrested on various spurious charges.[Question ID = 53][Question Description = RO_8_ENG-HIN_Q_053]
1. fake [Option ID = 209]

2. bona fide [Option ID = 210]

3. authentic [Option ID = 211]

4. similar [Option ID = 212]

7) Which of the following is meant by the idiom “Egg on” ?

[Question ID = 54][Question Description = RO_8_ENG-HIN_Q_054]
1. to apologize

[Option ID = 213]
2. to sympathize

[Option ID = 214]
3. to comfort

[Option ID = 215]
4. tourge

[Option ID = 216]

8) Which of the following options is the opposite of the word ‘onerous’ ?

[Question ID = 55][Question Description = RO_8_ENG-HIN_Q_055]
1. austere
[Option ID = 217]
2. spartan
[Option ID = 218]
3. easy

[Option ID = 219]
4. trying

[Option ID = 220]

9) Complete the given sentence using the correct option :

The nasty neighbour had been spreading gossip.[Question ID = 56][Question Description = RO_8_ENG-
HIN_Q_056]

amiable [Option ID = 221]

malicious [Option ID = 222]

benign [Option ID = 223]

tender [Option ID = 224]

AW N =

10) What is the synonym of the word ‘fractious'?[Question ID = 57][Question Description = RO_8_ENG-HIN_Q_057]
1. affable [Option ID = 225]
2. ingratiating [Option ID = 226]



3. contentious [Option ID = 227]
4. acquiescent [Option ID = 228]

Topic:- RO_HIN_05JAN_SH2_S2

1) &3 goe: aui & [Question ID = 58][Question Description = RO_8_ENG-HIN_Q_058]
53 [Option ID = 229]
55 [Option ID = 230]
52 [Option ID = 231]
54 [Option ID = 232]

A W N -

2) ‘oyer’ & ygwp Hf 3 -[Question ID = 59][Question Description = RO_8_ENG-HIN_Q_059]
. ammfy [Option ID = 233]

. oy [Option ID = 234]

. & [Option ID = 235]

. 31 [Option ID = 236]

A W N -

3) fosiferlRaa 3 A wlor-A1 9156 9Lg 3 -[Question ID = 60][Question Description = RO_8_ENG-HIN_Q_060]
. et [Option ID = 237]

. arafepoft [Option ID = 238]

. @wrEBel [Option ID = 239]

. Qi3 [Option ID = 240]

AW N =

4) foorferRaa 3 acar gfeist 9res ol 3 -
[Question ID = 61][Question Description = RO_8_ENG-HIN_Q_061]

1. @6

[Option ID = 241]
2. frar

[Option ID = 242]
3. uRg

[Option ID = 243]
4. uel

[Option ID = 244]

5) ‘srcrop1 el 3 fop 3 goun b Rkt ue Ao €
Yifed ue @t uferr 3 -

[Question ID = 62][Question Description = RO_8_ENG-HIN_Q_062]
1. 3=, wIfeparae, Fdifeir, vadadet, dalbrd

[Option ID = 245]
2. 3ish, *IfRparad, e, vaadol, JYGEIPRD

[Option ID = 246]
3. 3=, caftparad, Iifeer, vhdde, JAdtbRE

[Option ID = 247]
4. 3=, caftpdradm, fifedr, vaodade, dHdR®

[Option ID = 248]

6) ‘¥ar o A fo5 DI 3 ow

Jiféea ug 3

[Question ID = 63][Question Description = RO_8_ENG-HIN_Q_063]
1. forsrare Jderet

[Option ID = 249]
2. IR Adela

[Option ID = 250]
3. yseldrad Adelet

[Option ID = 251]
4. SiforerRIars Adolat

[Option ID = 252]



7) ‘do-dc A TSt sran &’ Ixaifopa fogm 3 -
[Question ID = 64][Question Description = RO_8_ENG-HIN_Q_064]
1. Jodo

[Option ID = 253]
2. sl

[Option ID = 254]
3. feoio

[Option ID = 255]
4. INFD

[Option ID = 256]

8) ‘Tutc @& oIl I DI RITP Dol AICIl HBIRT 3 -

[Question ID = 65][Question Description = RO_8_ENG-HIN_Q_065]
1. I a® of ggell

[Option ID = 257]
2. SIIcT gSiloll

[Option ID = 258]
3. Gl Tw dId Dsoll

[Option ID = 259]
4. 1 oI eoft

[Option ID = 260]

9) ‘eifermers’ I ggws AARI 3 -
[Question ID = 66][Question Description = RO_8_ENG-HIN_Q_066]
1. dcgsu

[Option ID = 261]
2. srerRfsma

[Option ID = 262]
3. wadifs

[Option ID = 263]
4. oetemer

[Option ID = 264]

10) ‘St gram Urel oIRI®D 3’ & fore waverss 2 -

[Question ID = 67][Question Description = RO_8_ENG-HIN_Q_067]
1. sEmuRl

[Option ID = 265]
2. ewmofler

[Option ID = 266]
3. sraroneit

[Option ID = 267]
4. swa

[Option ID = 268]

Topic:- RO_POLITY_05JAN_SH2_S2
1) Who among the following Presidents of India was the first Chief Minister of a State in India ?

Sfla 3w o1 el 2recuferil 3 A Blol, T URARI IS D usd FERIA & ?
[Question ID = 68][Question Description = RO_8_ENG-HIN_Q_068]
1. Dr. B. D. Jatti/st. «t. <. sredt

[Option ID = 269]
2. Dr. Shankar Dayal Sharma/si. gid2 ceiret ot

[Option ID = 270]
3. Dr. Rajendra Prasad/sf. 3mig yri6



[Option ID = 271]
4. Neelam Sanjeeva Reddy/sftcmr isfia gt

[Option ID = 272]
2) The Comptroller and Auditor General of India is also known as the

RA @ foriqae 3iiz ABICRaT Ulgid DY @ olrat A 9 Sirell ST 3

[Question ID = 69][Question Description = RO_8_ENG-HIN_Q_069]
1. Guardian of the Public Purse/uféctes ust @ 3izeras

[Option ID = 273]
2. Keeper of the Public Purse/ufecias ust @ g1

[Option ID = 274]
3. Custodian of the Public Purse/ufecias wf @ sifdzeid

[Option ID = 275]
4. Trustee of the Public Purse/ufscias wef @ ¢t

[Option ID = 276]
3) Which of the following words is not included in the Preamble of the Constitution of India ?

forgoiferRaa 3 3 Dlol-AT 916G HRARI JAfdensr &I Yaraen 3 onfirer ordl fopan s 3 ?
[Question ID = 70][Question Description = RO_8_ENG-HIN_Q_070]
1. Equality/>@rer

[Option ID = 277]
2. Liberty/>adqar

[Option ID = 278]
3. Sanctity/ufdgar

[Option ID = 279]
4. Justice/oemrr

[Option ID = 280]
4) On which day was the Indian Constitution adopted and passed by the Constituent Assembly ?

HIRA @ Afderel @I Afdermol AU ERI Rpxr Rer UIied wd 3ieiiayd fopar sri ?

[Question ID = 71][Question Description = RO_8_ENG-HIN_Q_071]
1. October 26, 1949/3mca= 26, 1949

[Option ID = 281]
2. November 26, 1949/ oiasaz 26, 1949

[Option ID = 282]
3. December 26, 1949/f53iaz 26,1949

[Option ID = 283]
4. January 26, 1950/ Siorast 26, 1950

[Option ID = 284]
5) The Council of Ministers has to resign if ‘'No Confidence Motion' is passed by a majority of members of :

afe @D siftrpad ¢ sifdeart gdaa uifyda o 3 a4 dfgisa Bl ceadg Soll usdr 3
[Question ID = 72][Question Description = RO_8_ENG-HIN_Q_072]
1. Lok Sabha/cli® s

[Option ID = 285]
2. Rajya Sabha/zrser 218

[Option ID = 286]
3. Both the Houses separately/gleil 391, geras Fu 3

[Option ID = 287]
4. Both the Houses in Joint Sitting/geil 2ems, s 3T A

[Option ID = 288]



6) Who among the following was the first Finance Minister of Independent India ?

foraotferRaa 3 A ol Fadq HRA @ usA fraaid & ?
[Question ID = 73][Question Description = RO_8_ENG-HIN_Q_073]

1. Abul Kalam Azad/3iget @l 3is1G

[Option ID = 289]
2. C. V. Mavlankar/=ft. dt. sraciasz

[Option ID = 290]
3. Sardar Patel/3reR et

[Option ID = 291]
4. R. K. Shanmukham Chetty/3mR. &. wugraar dgt

[Option ID = 292]
7) Who was the first chairman of Rajya Sabha ?

IS AT D YU 1AL blol & ?

[Question ID = 74][Question Description = RO_8_ENG-HIN_Q_074]
1. Zakir Hussain/sufesz g3l

[Option ID = 293]
2. Sardar Patel/zgR ueer

[Option ID = 294]
3. Dr. Rajendra Prasad/sf. 3mcig yri6

[Option ID = 295]
4. Dr. S. Radhakrishnan/=i. w3t Jrenawiet

[Option ID = 296]
8) Provisions related to election of members of Rajya Sabha are taken from the Constitution of which country?

ISRIANT D AGAT D Folld A AR a1, v Jor o dfdenot A ot a1 37
[Question ID = 75][Question Description = RO_8_ENG-HIN_Q_075]

1. Constitution of Japan/siuret @1 ifderet
[Option ID = 297]
2. Constitution of South Africa/gfér srwiar @ 2ifdemsr

[Option ID = 298]
3. Constitution of USA/USA bt 3ifereret

[Option ID = 299]
4. Constitution of Ireland/sirrcls @ Jifdemer

[Option ID = 300]

9) What is the chronological order of formation of the following States?
(A) Haryana

(B) Goa

(C) Nagaland

(D) Sikkim

forraiferRaa sl @ 31661 BT BIcIBfID BA T 37
(A) sfEmon

(B) airar

(C) steTIcts

(D) fRaferma

[Question ID = 76][Question Description = RO_8_ENG-HIN_Q_076]
1. A,C,D,B

[Option ID = 301]
2. C,A,D,B

[Option ID = 302]



3. AD,C,B

[Option ID = 303]
4. C,D,A,B

[Option ID = 304]
10) The minimum age required for becoming the Prime Minister of India is -

M DI YeIoldcfl Sofol @ fore oetad 3y fpaofl srafdra 3 ?

[Question ID = 77][Question Description = RO_8_ENG-HIN_Q_077]
1. 30 years/30 ad

[Option ID = 305]
2. 25 years/25 ad

[Option ID = 306]
3. 40 years/40 ad

[Option ID = 307]
4. 35 years/35 ad

[Option ID = 308]
11) What is the minimum Shareholding by Government required for considering it as a Govt. Bank or Public Sector Bank?

IRPRI b A1 ArdSIford 8 D T Dbl FHDIT D 1w IRDR TRI Riglad IRRenfedr oot 37

[Question ID = 78][Question Description = RO_8_ENG-HIN_Q_078]
1. 51%

[Option ID = 309]
2. 25%

[Option ID = 310]
3. 33%

[Option ID = 311]
4. 75%

[Option ID = 312]
12) Which one of the following is used for International money transfer?

ARSI &6l B3IRYI D feru forgotferRaa o A o= g dler &7

[Question ID = 79][Question Description = RO_8_ENG-HIN_Q_079]
1. RTGS

[Option ID = 313]
2. NEFT

[Option ID = 314]
3. SWIFT

[Option ID = 315]
4. Demand Draft

[Option ID = 316]
13) "Paika"(urger) of Jharkhand is a

SIR¥AUS DI "UISDI a¥dd: UD 3|
[Question ID = 80][Question Description = RO_8_ENG-HIN_Q_080]
1. flok song/clw sffa

[Option ID = 317]
2. flok dance/el® g

[Option ID = 318]
3. musical instrument /arer @i

[Option ID = 319]
4. art form /et @1 3a



[Option ID = 320]
14) Jamini Roy is famous in the field of

sfdrell 3R o & 3 Jfersema 3 ?
[Question ID = 81][Question Description = RO_8_ENG-HIN_Q_081]
1. Music/Ipfia

[Option ID = 321]
2. Dance/gea

[Option ID = 322]
3. Painting/fRgamen

[Option ID = 323]
4. Clay Modelling/gfefaen

[Option ID = 324]
15) ‘Navroz’ is the new year of

‘ oIcRIST’ et o1 ofa ad 3

[Question ID = 82][Question Description = RO_8_ENG-HIN_Q_082]
1. Jains/Siat

[Option ID = 325]
2. Buddhists/dler

[Option ID = 326]
3. Sikhs/RBra

[Option ID = 327]
4. Parsis/ursft

[Option ID = 328]
16) “Tera Tali” is the dance form of which State of India ?

“ORI dretl” A fopr eI s B v o ekt 3 ?

[Question ID = 83][Question Description = RO_8_ENG-HIN_Q_083]
1. Kerala/@ze

[Option ID = 329]
2. Madhya Pradesh/aer ygor

[Option ID = 330]
3. Rajasthan/zmrems

[Option ID = 331]
4. Tamil Nadu/aficrors

[Option ID = 332]
17) Synagogue (Rrosifer) is the worship-place of which religion ?

‘Rrowiier fop1 ent A Jag yrefar Fera 3 ?

[Question ID = 84][Question Description = RO_8_ENG-HIN_Q_084]
1. Zoroastrianism/ur:ft

[Option ID = 333]
2. Buddhism/ate

[Option ID = 334]
3. Christianity /s

[Option ID = 335]
4. Judaism (ract) /@ract

[Option ID = 336]

18) Who formulated the “Sankhya Philosophy” ?



"HizRn gofol’ fobarar yferarfea foser ?
[Question ID = 85][Question Description = RO_8_ENG-HIN_Q_085]
1. Gautam Muni/siida gfor

[Option ID = 337]
2. Jaimini Muni/Siféreft gfor

[Option ID = 338]
3. Kapil Muni/ofter gfor

[Option ID = 339]
4. Patanjali Muni/udsieft #for

[Option ID = 340]

Topic:- RO_GS_05JAN_SH2_S2
1) Density of a substance is :

fool ucref @1 Totca ES

[Question ID = 86][Question Description = RO_8_ENG-HIN_Q_086]
1. Mass x Volume / g6t x SIRId6l

[Option ID = 341]
2. Volume / Mass / 3iRIdel / geIel

[Option ID = 342]
3. Mass + Volume / gwmirer + 3iRIde

[Option ID = 343]
4. Mass / Volume / goemeret / SIRIqor

[Option ID = 344]
2) At which of the following places, weight of an object is maximum ?

forgatferiRaa 4 A v SPTe WR f[pdl avqg @1 gstel siférmaa 3l Addr 3 ?
[Question ID = 87][Question Description = RO_8_ENG-HIN_Q_087]
1. At poles/ga w

[Option ID = 345]
2. At equator/se w2

[Option ID = 346]
3. At Tropic of Capricorn/#d: 3 w

[Option ID = 347]
4. At Tropic of Cancer/@® ¥z @@

[Option ID = 348]

3) When a bullet is fired from a gun, its potential energy is converted into :

S 3licll, do A forperdl 3 aa 3l Rraferst et e af¥afefa aicft 3 ?

[Question ID = 88][Question Description = RO_8_ENG-HIN_Q_088]
1. Kinetic energy/aiferst 3t

[Option ID = 349]
2. Mechanical energy/zifeibt it

[Option ID = 350]
3. Heat energy/3wm et

[Option ID = 351]
4. Chemical energy/3RIrfor® It
[Option ID = 352]

4) 1 Pound = ounces

1 urss = 3T



[Question ID = 89][Question Description = RO_8_ENG-HIN_Q_089]
1. 16

[Option ID = 353]
2. 18

[Option ID = 354]
3. 12

[Option ID = 355]
4. 20

[Option ID = 356]
5) 'Light year' is a unit of

‘'geproray’ fipaeet smue 3 ?
[Question ID = 90][Question Description = RO_8_ENG-HIN_Q_090]
1. Time/@r=x

[Option ID = 357]
2. Distance/gdt

[Option ID = 358]
3. Light/yeprer

[Option ID = 359]
4. Intensity of light/yeprer &t digar

[Option ID = 360]
6) Dryiceis

9B T 3

[Question ID = 91][Question Description = RO_8_ENG-HIN_Q_091]
1. Water in solid state/urft @1 SR

[Option ID = 361]
2. Water in gaseous state/urfl @1 arRsu

[Option ID = 362]
3. COy in liquid state /CO; @1 gasu

[Option ID = 363]
4. CO3 in solid state/CO; @1 SRI=U

[Option ID = 364]
7) An atom which has a mass number of 14 or 8 neutrons, is

s WRA] KSRIb! goaret Jwar 14 a1 8 oycier axdl 3, ar 3

[Question ID = 92][Question Description = RO_8_ENG-HIN_Q_092]
1. Isotope of oxygen/sifa=fiSior @1 J9renford

[Option ID = 365]
2. Isotope of carbon/rdel @1 WReIITD

[Option ID = 366]
3. Isobar of oxygen/siia=fistor a1 it

[Option ID = 367]
4. lsobar of carbon/@rdor @1 Jerdndt

[Option ID = 368]
8) Sodium salts of sulphonic acids or ammonium salts with chlorides or bromides are regarded as

ABIfold 3iFcdl @ AMSAA ATce AT TARISS/FAISS DI AfoRI ATee __ BT 3

[Question ID = 93][Question Description = RO_8_ENG-HIN_Q_093]
1. Soaps/3get

[Option ID = 369]



2. Detergents/smemsio

[Option ID = 370]
3. Baking Powder/afessr uss2

[Option ID = 371]
4. Baking Soda/afeser st

[Option ID = 372]
9) The horizontal row in Modern Periodic Table is called -

smggfora smad arvil 3 Sifers dfes @1 P8l Sl 3
[Question ID = 94][Question Description = RO_8_ENG-HIN_Q_094]
1. Period/smda

[Option ID = 373]
2. Group/3#g

[Option ID = 374]
3. Blocks/scifs

[Option ID = 375]
4. Segments/qgaxis

[Option ID = 376]
10) Detergents used for cleaning clothes and utensils contain

PU3 3R dcel ATH B! D e Yyep ey Sirol arel sraersiol Aar 3
[Question ID = 95][Question Description = RO_8_ENG-HIN_Q_095]
1. Bicarbonates/ari@dioct

[Option ID = 377]
2. Bismuthates/fe=adica

[Option ID = 378]
3. Sulphonates/zcwioica

[Option ID = 379]
4. Nitrates/amsec

[Option ID = 380]
11) Which one is an emulsifier ?

forgoifeiRaa & A fooad) UrRRieR® @ar sirar & ?

[Question ID = 96][Question Description = RO_8_ENG-HIN_Q_096]
1. Soap/3got

[Option ID = 381]
2. Water/umft

[Option ID = 382]
3. Oil/da

[Option ID = 383]
4. Linseed oil/feifoars et

[Option ID = 384]
12) Chromosomes are best observed in -

SURIC 3 e D A R a3

[Question ID = 97][Question Description = RO_8_ENG-HIN_Q_097]
. Interphase/scadet

[Option ID = 385]
2. Prophase/quer

[Option ID = 386]
3. Metaphase /st



[Option ID = 387]
4. Telophase/ecisr

[Option ID = 388]
13) Enzymes are mainly -

gfpvayggaa: ______ 3
[Question ID = 98][Question Description = RO_8_ENG-HIN_Q_098]
1. Carbohydrates/®risEScn
[Option ID = 389]
2. Proteins/qidtar
[Option ID = 390]
3. Lipids/Riftsa
[Option ID = 391]
4. Amino acids/siféen els

[Option ID = 392]

14) Green colour of leaves is due to -

aferIl I &A 3T Ygza: sa® PRI aidl & [Question ID = 99][Question Description = RO_8_ENG-HIN_Q_099]
. Chromoplast/avferasm [Option ID = 393]

. Leucoplast/smavfferaas [Option ID = 394]

. Chloroplast/af¥ctam [Option ID = 395]

. Tonoplast/dsietrze [Option ID = 396]

A WN -

15) Corpus luteum is a mass of cells found in

DIfIrpI DI geIdilel, Ula fiis 3 urn Sirar @

[Question ID = 100][Question Description = RO_8_ENG-HIN_Q_100]
1. Brain/af¥ass

[Option ID = 397]
2. Ovary/3isior

[Option ID = 398]
3. Pancreas/ s@cIgRT

[Option ID = 399]
4. Liver/apa

[Option ID = 400]
16) Which of the following waves is used for detecting forgery in currency notes?

foreatferRaa & A @it At az31 gl olIct A SierRIs udse H g il 37[Question ID = 101][Question Description = RO_8_ENG-

HIN_Q_101]

1. Infrared waves/smzs i [Option ID = 401]

2. Ultraviolet waves/uz@sroft a3si [Option ID = 402]
3. Microwaves/3ga a3t (sms@idesn) [Option ID = 403]
4. Radio waves/3f&= a3d1) [Option ID = 404]

17) Nuclear fission is the source of energy in

ua] forauser 3 il @1 e 3
[Question ID = 102][Question Description = RO_8_ENG-HIN_Q_102]
1. Sun and hydrogen bomb /3Rt siiz aESisor @t

[Option ID = 405]
2. Sun and atom bomb /3t siiz uzamyy et

[Option ID = 406]
3. Nuclear reactor and Sun/suférbir Reacs siiz 3t

[Option ID = 407]
4. Nuclear reactor and atom bomb/snfdrcblr Budae? sl uam) ot



[Option ID = 408]

Topic:- RO_HIST_05JAN_SH2_S2

1) Out of the following remains excavated in Indus Valley, which one indicates the commercial and economic development
?

"Rigg arél’ @ Iexgotol 3 URI oRI forFotfeiRaed sradoll 3 A BloRAl 39 aIfvrs 3R forilRI forar @I JkM[ war 8 ?
[Question ID = 103][Question Description = RO_8_ENG-HIN_Q_103]
1. Pottery/firét @ aclor

[Option ID = 409]
2. Seals/#g1/ #s2

[Option ID = 410]
3. Boats/aii@r

[Option ID = 411]
4. Houses/d®Io

[Option ID = 412]
2) The Gurumukhi script was introduced by

of Izl ferftr bl et bt

[Question ID = 104][Question Description = RO_8_ENG-HIN_Q_104]
1. Guru Amardas/3Js EReRI

[Option ID = 413]
2. Guru Ramdas/3ps IWGRI

[Option ID = 414]
3. Guru Angad/s 3ieIg

[Option ID = 415]
4. Guru Nanak Dev/sps airer da

[Option ID = 416]

3) Assertion (A) : The Congress leaders boycotted the Simon Commission
Reason (R) : Lala Lajpat Rai died due to police caning

sif3rperet (A) : DIvR/A @ ATl of ATl DIHIIGT DI d3ePR v
@RuI (R) : <l arstud IRI &I e gferT bl enfsai usel A 53

[Question ID = 105][Question Description = RO_8_ENG-HIN_Q_105]
1. Both (A) and (R) are true but (R) is not the correct explanations of (A)/cleil (A) sz (R) 3@t 2, ©3q (R), (A) @1 3 RN o1dt e

[Option ID = 417]
2. (A)is true but (R) is false/(A) 3@t 3, uw3qg (R) srcia &

[Option ID = 418]
3. (A) is false but (R) is true/(A) st 3, w2g (R) a1t 2

[Option ID = 419]
4. Both (A) and (R) are true and (R) is the correct explanations of (A)/gsil (A) 3l (R) 3& & 3z (R), (A) &1 3 IR=N B2 &

[Option ID = 420]
4) Who initiated the construction of “Qutub-Minar” ?

e’ @1 foraivr fipror grResr fopem ?
[Question ID = 106][Question Description = RO_8_ENG-HIN_Q_106]
1. Qutubddin Aibak/mqgggier Yam

[Option ID = 421]
2. Iltutmish/segafarer

[Option ID = 422]
3. Feroz Shah Tughlak/ b3St o gercid

[Option ID = 423]



4. Sikandar Lodi/Brawog? cieft
[Option ID = 424]

5) In ancient India, the earliest capital of Magadha Kingdom was at :

Yrilel HRd 3, Fo1er AR DI Ydopreilot Istenmell _____ off

[Question ID = 107][Question Description = RO_8_ENG-HIN_Q_107]
1. Pataliputra/urefergeg

[Option ID = 425]
2. Rajgir/3cEE

[Option ID = 426]
3. Vaishali/derrcft

[Option ID = 427]
4. Varanasi/armrft

[Option ID = 428]
6) Who among the following was contemporary of Gautama Buddha ?

forgotfcri3aa 3 A dlol sliad gg o AADIcilol o ?
[Question ID = 108][Question Description = RO_8_ENG-HIN_Q_108]
1. Bhadrabahu/sgars

[Option ID = 429]
2. Chandragupta Maurya/dgga sitef

[Option ID = 430]
3. Parsvanath/uredser

[Option ID = 431]
4. Vardhaman Mahavira/afarer sigrdiz

[Option ID = 432]
7) Who among the following was appointed by Samrat Ashoka to administer justice in his empire ?

forrarferRaa & A1 fopaaap! AIC 39N of U6l ATHISA A RIRI-YIRIol @ fore forgep fpem e ?

[Question ID = 109][Question Description = RO_8_ENG-HIN_Q_109]
1. Sharmana/er#ot

[Option ID = 433]
2. Kumar Amatya/gaR seiret

[Option ID = 434]
3. Rajuka/3rgmr

[Option ID = 435]
4. Uparika/3uf¥emr

[Option ID = 436]
8) Ajanta Cave Paintings were greatly influenced by which religion?

arsiar w13l B Rigaven fop=1 el A i genfa off ?

[Question ID = 110][Question Description = RO_8_ENG-HIN_Q_110]
1. Jainism/Slot

[Option ID = 437]
2. Buddhism/dlg

[Option ID = 438]
3. Vaishnavism/dwra

[Option ID = 439]
4. Shaivism/gdla

[Option ID = 440]



9) Which of the following parties was established by Dr. Bhim Rao Ambedkar?

3. ofier 2@ 3ids®2 of forgafciRaa 3 A b cer &I Femuen & efi?[Question ID = 111][Question Description = RO_8_ENG-HIN_Q_111]
. The Independent Labour Party/>add a2 urct (3308 aaz urcf) [Option ID = 441]

The Peasants and Workers Party of India/smdRr 9iaa3t aemme uet [Option ID = 442]

. Labour Swaraj Party/caz sazret urdt [Option ID = 443]

. Hindustan Socialist Republican Association/fgsgret arferre Rufécid sriifRmoret [Option ID = 444]

AN w N -

10) Which one of the following revolts was addressed in Bankim Chandra Chatterjee's famous novel ‘Anand Math'?

dfdpar T1eq acsit @ yRig Susra 'sieic 716’ 3 forwsiferlRaa 3 3 fopar aifer bt ara @&t a1 8?[Question ID = 112][Question Description =
RO_8_ENG-HIN_Q_112]

Sanyasi rebellion/zeem=f figis [Option ID = 445]

Bhil uprising/sfiet fagia [Option ID = 446]

Birbhum rebellion/dzs fagis [Option ID = 447]

Rangpur uprising/31gz fagia [Option ID = 448]

A W N -

11) The third battle of Panipat was fought between ?

ureilud @I ekl gg fdperd> &l oISt o1 ar ?

[Question ID = 113][Question Description = RO_8_ENG-HIN_Q_113]
1. Babur and Ibrahim Lodi/srer 3iiz sqiféar clict

[Option ID = 449]
2. Ahmed Shah Abdali and Marathas/sms#g 98 siecrelt 3iiz #1IoT

[Option ID = 450]
3. Akbar and Shershah Suri/si@paz sz IRz J3t

[Option ID = 451]
4. Shershah Suri and Humayun/droms 33t siie 89},

[Option ID = 452]
12) Who among the following wrote ‘Fathul Mujahidin'?

forgotferfRaa 3 A fparal 'Gaga Fgenfadior forar 3 ?
[Question ID = 114][Question Description = RO_8_ENG-HIN_Q_114]

1. Babur/amaz

[Option ID = 453]
2. Tipu Sultan/fey Jearet

[Option ID = 454]
3. Hyder Ali/gg3 areft

[Option ID = 455]
4. Shah Alam/9nz sirewt

[Option ID = 456]
13) What led to the imprisonment of Bal Gangadhar Tilak?

|11 JivNeR ferctd @ @6 Blel DI AR DBRUT AT?

[Question ID = 115][Question Description = RO_8_ENG-HIN_Q_115]
1. His report on Colonial misrule/ sfiufrafsre mormior w2 Jorcht fuid

[Option ID = 457]
2. Sympathy for Punjab revolutionaries/usia @ @ifermifil @ fore G sira

[Option ID = 458]
3. Encouraging nationalist activities/kr @RIt @t grar Seit

[Option ID = 459]
4. Refusal to accept Vernacular Press Act 1878/dsticgerz 1 siféiformst 1878 bl alrolol 3 SolbIR BIall

[Option ID = 460]

14) Who among the following leaders was not a part of Non-cooperation movement ?



forgotferf3ae 3 31 Blol-A oldl, RIS 3iGIcTol BT Udh {3331 o1dl & ?

[Question ID = 116][Question Description = RO_8_ENG-HIN_Q_116]
1. M.A. Ansari/u#. u. et

[Option ID = 461]
2. Annie Besant/vofl &Ric

[Option ID = 462]
3. Abul Kalam Azad/ 3rget @etit 31sIiG

[Option ID = 463]
4. Hakin Ajmal Khan/ziféser srsmtet af

[Option ID = 464]
Topic:- RO_NATMOV_05JAN_SH2_S2
1) What is the meaning of Dyarchy?

fgonaor @1 a=r sref 3?7

[Question ID = 117][Question Description = RO_8_ENG-HIN_Q_117]
1. Practice of a powerful country controlling a poor country/vd giftborctt 39t T v sl ot U2 foRiqUr

[Option ID = 465]
2. A country governed by a dictator/drenons grr onfd Sor

[Option ID = 466]
3. A small group of people having control of a country/cliell @ vdb 81 e DI S W foRIGUI

[Option ID = 467]
4. A government in which power is vested in two rulers/v® PR SREI 31 Gl IRID! 3 foifdd 2

[Option ID = 468]
2) The second Mysore war came to an end by the treaty of

GRI IR g fop=r e o amer Jammd g3 ?
[Question ID = 118][Question Description = RO_8_ENG-HIN_Q_118]
1. Salbai/metars

[Option ID = 469]
2. Mangalore/dsreiiz

[Option ID = 470]
3. Purandev/gurca

[Option ID = 471]
4. Mysore/d

[Option ID = 472]
3) Prarthana Samaj was founded by

grefelt JdArSt dl Femuen fdpaer &t ?

[Question ID = 119][Question Description = RO_8_ENG-HIN_Q_119]
1. Atmaram Panduranga/3iiRmeI Uit

[Option ID = 473]
2. Dayanand Saraswati/garic IRsadt

[Option ID = 474]
3. Swami Vivekananda/zawft fddreic

[Option ID = 475]
4. Sri Ramana Maharshi/off 3swr 1aftf

[Option ID = 476]

4) Who of the following took the burning of foreign cloths during the Non-Cooperation Movement as ‘Insensate waste'?

forgstfeiRaa 31 3 fop3Tor 3rIB=NET 3MicIcTol B SiRiol fASeft BUST dI Sicial Bl 'SorRiAe d3c @ »U A ferRm?



[Question ID = 120][Question Description = RO_8_ENG-HIN_Q_120]
1. Sardar Vallabhbhai Patel/3reRr aceror o1 ueet

[Option ID = 477]
2. Rabindranath Tagore/3dtog omer 2sie

[Option ID = 478]
3. Chittaranjan Das/R=ster a1

[Option ID = 479]
4. Mridula Sarabhai/agetr s

[Option ID = 480]

5) Which of the following industries flourished in India during the British Rule?
(i) Cotton Textile

(ii) Heavy engineering machines

(iii) Coal Mines

Select the correct answer using the codes given below :

forgatferRaa 3 21 PBlerR JeNoT 3i3)H oIRIel @ SRIeT MIRA 3 Joold gU ?
(i) 22t ey setor

(ii) st sifirnfoqa arefier

(iii) Rrem IO

Il facu @1 wRIeT B

[Question ID = 121][Question Description = RO_8_ENG-HIN_Q_121]
1. (i) and (ii) only/dae (i) afiz (if)

[Option ID = 481]
2. (ii) and (iii) only/aaet (ii) sz (iii)

[Option ID = 482]
3. (i) and (iii) only/aaet (i) siiz (iii)

[Option ID = 483]
4. (i), (ii) and (iii)/ (i), (ii) sl (iii)
[Option ID = 484]

6) The Principle of Election in India was introduced by

R 3 golld @ Rrgia or yferurger __ @D GRI g3 AT ?

[Question ID = 122][Question Description = RO_8_ENG-HIN_Q_122]
1. Indian Council Act of 1861/ smaeflzr ufdug siféiformer 1861

[Option ID = 485]
2. Indian Council Act of 1892/ st uf¥ug sifeiforer 1892

[Option ID = 486]
3. Indian Council Act of 1909/ smaciter ufdug siféiformr 1909

[Option ID = 487]
4. Indian Council Act of 1919/ smacfier ufdwey siférformar 1919

[Option ID = 488]
7) Which of the following statements is true regarding the rebellion at Bastar?

TR D fAgie D ar i forwarferRaa 3 7 Dol AT DUl AT 37

[Question ID = 123][Question Description = RO_8_ENG-HIN_Q_123]
1. The initiative was taken by the Dhangars of Kanger forest/®BIR Siolel @ ¢RI of uadt &t eff

[Option ID = 489]
2. The reservation first took place at village Nethanar/siiq oferrerz 9 user 3m=8vr 831

[Option ID = 490]
3. The British were able to capture Gunda Dhur, an important figure in the movement. /f§fe9r sriciciol &I v sacayul B! 'ofst g2’ DI UDSol 3 PIRIE 1

[Option ID = 491]
4. The area to be reserved was reduced to roughly half of that planned before 1910./3mféra fépen Siot arerr 8iq 1910 3 uact i Aistel @ o8 M 333 dd Bt
o2 [ e



[Option ID = 492]
8) The Purna Swaraj declaration was made on January 26:

'guf TR &t diyon’ 26 Soradt @I g5 off

[Question ID = 124][Question Description = RO_8_ENG-HIN_Q_124]
1. 1928

[Option ID = 493]
2. 1929

[Option ID = 494]
3. 1930

[Option ID = 495]
4. 1931

[Option ID = 496]
9) Poona Pact was signed in which of the following years ?

forgoiferRaa 3 3 fop=1 ad 'gorr Uae’ u= s3digr fop= srm ot ?
[Question ID = 125][Question Description = RO_8_ENG-HIN_Q_125]
1. 1932

[Option ID = 497]
2. 1934

[Option ID = 498]
3. 1936

[Option ID = 499]
4. 1938

[Option ID = 500]
10) Which of the following events brought Aurobindo Ghosh into the fold of the Indian National Movement?

forgatferfRaea 3 2 o531 Tcol of RfACY Ty @1 sRdRI Ascarst siicicrot &t 3R A fS=m?

[Question ID = 126][Question Description = RO_8_ENG-HIN_Q_126]
1. The Surat Split/3Re fsisior

[Option ID = 501]
2. The partition of Bengal/ds1ret @1 ferrstor

[Option ID = 502]
3. The Jalianwala Bagh Massacre/sifériidret dme1 srIdbis

[Option ID = 503]
4. The famines of 1899-1900/1899-1900 @ 3ibret

[Option ID = 504]
11) Ilbert Bill was introduced during the tenure of

scad fde1 @1 ga9r fipad> erimre i g3n?

[Question ID = 127][Question Description = RO_8_ENG-HIN_Q_127]
1. George Ripon/sifst RBuet

[Option ID = 505]
2. Thomas Macaulay /emr1 diaret

[Option ID = 506]
3. James Dalhousie/Swr sci@isht

[Option ID = 507]
4. Freeman Willingdon /wdar faféissoer

[Option ID = 508]

12) Which of the following pairs is not matched correctly ?



forgotfeiRad A A BlorAT SNIST 3991 3 ?

[Question ID = 128][Question Description = RO_8_ENG-HIN_Q_128]
1. Moplah Rebellion : Malabar region/aiuct figla: remarR &I

[Option ID = 509]
2. Eka Movement : Handoi, Bahraich and Sitapur of Uttar Pradesh/uar siicieror: 3t oI oI &a18, daisd 3l Aldamgz

[Option ID = 510]
3. Pabha Rebellion : Maharashtra/user figls: IBRIE

[Option ID = 511]
4. Tebhaga Movement : Bengal/qsmen siicicTor: dsrret

[Option ID = 512]
13) Who among the following initiated the Kheda Satyagraha?

forgaiferRaa 3 2 foptor "WsT AP s’ &I F3Id di?

[Question ID = 129][Question Description = RO_8_ENG-HIN_Q_129]
1. Bhikaji Kama/sflarsfl arem

[Option ID = 513]
2. Mohanlal Pandya/#stctict uigen

[Option ID = 514]
3. Sardar Patel/erR ueaa

[Option ID = 515]
4. Vinoba Bhave/fioitar sa

[Option ID = 516]
14) Which of the following was not recommended by the Wood’s despatch ?

forgotferfiaa 3 A wlot 'gga Ra’ grr Jenfaed odt 3 ?

[Question ID = 130][Question Description = RO_8_ENG-HIN_Q_130]
1. An education department was to be set up in every province /Y@ Yid 3 v 9ieifdra ferer Fenfud Slolr o

[Option ID = 517]
2. All private schools should be given grant-in-aid/sft forsft fdereril @t AsrIAr sejcTel G Sion aifde

[Option ID = 518]
3. At least one government school be opened in every district/a: Sl 3 ®a A DA 0D IRPR [dererr Hicton e

[Option ID = 519]
4. Universities on the model of the London University be established in big cities such as Bombay, Calcutta and Madras /cicel feeafdencrs @ MR W did,

DI, AGRI S IS 91831 3 feeafderert Fenfue sist

[Option ID = 520]

Topic:- RO_AGRI_05JAN_SH2_S2
1) Preserving germplasm in frozen state is :

Stofolge f3arefifera Rrerfer 3t Jfara xwoen g
[Question ID = 131][Question Description = RO_8_ENG-HIN_Q_131]
1. Cryopreservation /fa#gRemt

[Option ID = 521]
2. In situ preservation/Fazenford et

[Option ID = 522]
3. Cold storage/ ofi=isfgur

[Option ID = 523]
4. Vernalisation/aiedtaor

[Option ID = 524]

2) Which among the following is a mandatory mark for fruit products in India ?



forgotferlR3ae 3 3 sRa 3 a1 Icurgl & fere Biar-A1 Yyl siforart 37

[Question ID = 132][Question Description = RO_8_ENG-HIN_Q_132]

1. FPO

[Option ID = 525]
2. 1Sl

[Option ID = 526]
3. Rugmark

[Option ID = 527]
4. Agmark

[Option ID = 528]
3) Which one of the following describes a system of agriculture where a single crop is grown on a large area?

forgaferRaa 31 3 Plat uep VMt Y gunelt o1 quier w2ar 3 Siel v a3 81 A v & waae Fons Sl 3?7

[Question ID = 133][Question Description = RO_8_ENG-HIN_Q_133]
1. Shifting Agriculture/ZermoticRur ot

[Option ID = 529]
2. Plantation Agriculture/gemiuor oty

[Option ID = 530]
3. Horticulture/armrarsft

[Option ID = 531]
4. Intensive Agriculture/s1sol ot

[Option ID = 532]
4) Flaur Savr variety of Tomato remains fresh for long because it

e} bl Tl Al fbFd dd JAIRT dd drsiT doil 5l 3 aRilfs Brar/arcdt &

[Question ID = 134][Question Description = RO_8_ENG-HIN_Q_134]
1. has little polygalacturonase/dife@Yciaqiorst aet rqr 3

[Option ID = 533]
2. has abundant polygalacturonase/diferIciaciorst 3eIoIT Ay 3

[Option ID = 534]
3. has gene for antibiotic resistance/yferifa® yfeRlera dompur

[Option ID = 535]
4. lacks amylase/dsmscist &t aaft

[Option ID = 536]
5) Mango is propagated mainly through:

A B PR BU A SRI SUSIRIT SIIdr 3 ?

[Question ID = 135][Question Description = RO_8_ENG-HIN_Q_135]
1. Root cutting/srs @azer

[Option ID = 537]
2. Vineer grafting/faforr spftcst

[Option ID = 538]
3. Inarching/foriqur

[Option ID = 539]
4. Stone grafting/3<lar syficst

[Option ID = 540]
6) Soil that is carried and deposited by rivers is called :

cIfédl g1 daIm: oI ud St i o Rt s 3

[Question ID = 136][Question Description = RO_8_ENG-HIN_Q_136]
1. Colluvial/ 9l



[Option ID = 541]
2. Alluvial/sice

[Option ID = 542]
3. Aeolian/ardie

[Option ID = 543]
4. Glacial/fzae

[Option ID = 544]
7) Round revolution is associated with :

'3lieT @ifer’ (I8 Ralcygret) fiprl Hdfea 3 ?

[Question ID = 137][Question Description = RO_8_ENG-HIN_Q_137]
1. Fish/a@scht

[Option ID = 545]
2. Biofuel/Jases

[Option ID = 546]
3. Potato/aire],

[Option ID = 547]
4. Oilseeds/ferec1g0r

[Option ID = 548]
8) Trashing is related to :

Sfofer’ fiperet Jdfta @ ?
[Question ID = 138][Question Description = RO_8_ENG-HIN_Q_138]

1. Sugarcane/sreoln

[Option ID = 549]
2. Gram/dem

[Option ID = 550]
3. Tobacco/dsarg

[Option ID = 551]
4. Banana/den

[Option ID = 552]

9) Murate of potash is chemically

[Question ID = 139][Question Description = RO_8_ENG-HIN_Q_139]
1. Potassium hydrogen phosphate (K;HPO4)/uieformt assisior wizwe (KoHPO4)

[Option ID = 553]
2. Potassium nitrate (KNO3)/diformt sirce (KNO3)

[Option ID = 554]
3. Potassium sulphate (K;S04)/diefSrme Acte (K2S04)

[Option ID = 555]
4. Potassium Chloride (KCl)/u2former acieiss (KCL)

[Option ID = 556]
10) Elemental Sulphur, when applied to the soil is converted to sulphate by which of the following bacterial species ?

aifead Acw? S9 [l Uz siopgged dlar 3 dl forgsiferRan 3 A fopar sfianyy ysufa gr1 Acbe A uf¥afela fevan sar 3 ?

[Question ID = 140][Question Description = RO_8_ENG-HIN_Q_140]
1. Thiobacillus sp/emiidficere vadt

[Option ID = 557]
2. Pseudomonas/¥gstieort

[Option ID = 558]



3. Nitrobacter/sRIQAacz

[Option ID = 559]
4. Clostridium/acizdSkm

[Option ID = 560]
11) Deficiency of which nutrient causes Whiptail disease of Cauliflower ?

et 3 fpar diue dca &t waft A cdicercht AsT Brer 3 ?

[Question ID = 141][Question Description = RO_8_ENG-HIN_Q_141]
1. Magnesium/dsolidrmEr

[Option ID = 561]
2. Boron/dRfat

[Option ID = 562]
3. Molybdenum/itfersSorar

[Option ID = 563]
4. Zinc/swar

[Option ID = 564]

12) Summer die back, little leaf and gummaosis of citrus are diseases of citrus plants due to deficiency of which of the
following nutrients ?

forgoiferRaa 3 31 fop1 I B D PRUI AT D BIT U 3R SMEIIRRI ATSCA D AT 3CH B A ATURT IR Sl & ?

[Question ID = 142][Question Description = RO_8_ENG-HIN_Q_142]
1. Boron/dRfa

[Option ID = 565]
2. Copper/dmeg

[Option ID = 566]
3. Zinc/sa

[Option ID = 567]
4. Molybdenum/difersSorer

[Option ID = 568]
13) Which fruit is called as ‘King of Arid fruits’ ?

DIoRIT Bl "9[Sh Well Pl IAS Aol STl & ?
[Question ID = 143][Question Description = RO_8_ENG-HIN_Q_143]

1. Mango/sma

[Option ID = 569]
2. Avocado/uvdrd>st

[Option ID = 570]
3. Durian/&=

[Option ID = 571]
4. Apple/3=

[Option ID = 572]
14) White rust of crucifers is caused by :

@A ®I AW Sidt f[paAd> @RI ddar 3 ?

[Question ID = 144][Question Description = RO_8_ENG-HIN_Q_144]
1. Alternaria brassiacae/ sicczoif¥n gidrmfizn

[Option ID = 573]
2. Perenospora brassicae/t¥sizarRn qi3rRmiRn

[Option ID = 574]
3. Puccinia brassicae/gfform giidrmfm

[Option ID = 575]



4. Albugo candida/ sicgsll dosist
[Option ID = 576]

Topic:- RO_POP_05JAN_SH2_S2
1) The Floating National Park, Keibul Lamjao, is located in which State?

fopa1 Irsa 3 dger IS, UM AT AR Jeel e &7

[Question ID = 145][Question Description = RO_8_ENG-HIN_Q_145]
1. Assam/spw

[Option ID = 577]
2. Manipur/a#foigz

[Option ID = 578]
3. Tripura/fegar

[Option ID = 579]
4. Meghalaya/dmarcrr

[Option ID = 580]
2) Multiple interactions of food chain makes :

el giden &l sgurRui¥e g @R Joiredt 3 ?

[Question ID = 146][Question Description = RO_8_ENG-HIN_Q_146]
1. Ecosystem/uif¥dq

[Option ID = 581]
2. Biome/arnsft

[Option ID = 582]
3. Food Web/xarersier

[Option ID = 583]
4. Environment/wifazor

[Option ID = 584]
3) In COP 26 summit, India promised to cut its emissions to net zero by

COP 263 rsdictat 3, 3IRd of aw, 3ol IASIol I QYo dAd I Pelcil Dol PI aral f[pr &

[Question ID = 147][Question Description = RO_8_ENG-HIN_Q_147]
1. 2050

[Option ID = 585]
2. 2070

[Option ID = 586]
3. 2060

[Option ID = 587]
4. 2080

[Option ID = 588]
4) Bengal Tiger, an endangered species, is a National animal of :

GFYRI YeIRRI 3 A v §@OICT TS9O, __ BT AR U9l 3

[Question ID = 148][Question Description = RO_8_ENG-HIN_Q_148]
1. India/emza

[Option ID = 589]
2. India and Bangladesh/sm=d iz gisengor

[Option ID = 590]
3. India and Nepal/ s siiz otuaret

[Option ID = 591]
4. India and Sri Lanka/ st siiz oficiaor



[Option ID = 592]
5) species is an organism that helps to define an entire ecosystem.

yifer ueb Sfia 3 Sl ues Aguf uf¥dqg o1 uif¥snfta oo 3 Ac o &

[Question ID = 149][Question Description = RO_8_ENG-HIN_Q_149]
1. Keystone/®Ree

[Option ID = 593]
2. Flagship/uchIisa

[Option ID = 594]
3. Umbrella/sedem

[Option ID = 595]
4. Indicator/sf¥de:

[Option ID = 596]
6) The urbanization in India caused

HRA A o1sdiasur &l asig A _

[Question ID = 150][Question Description = RO_8_ENG-HIN_Q_150]
1. Decrease in both the birth rate and death rate/sw 52 vd Fgc2 cleil 9 @it &5

[Option ID = 597]
2. Only the birth rate decreased, but death rate is not decreased/Riw Sicaicz 9 el &S clicbol HYS2 oldl aet

[Option ID = 598]
3. Increase in the birth rate and death rate/Smeec? 3l cge? 3 dels! &8

[Option ID = 599]
4. No effect on the birth rate and death rate/sesc? vd Fgc2 cleil W DI YaId ol 3311

[Option ID = 600]

7) Under the National Highway Development Project, which one of the following is not on the route of Golden Quadrilateral
?

IERI ISIAP] PR ulRilsen @ dsad, wofeiRada 3 A ool Fafia aqys aet ol 3 ?
[Question ID = 151][Question Description = RO_8_ENG-HIN_Q_151]
1. Lucknow/ ot

[Option ID = 601]
2. Jaipur/srigz

[Option ID = 602]
3. Vijaywada/fesrrarst

[Option ID = 603]
4. Belgaum/dcmmar

[Option ID = 604]
8) As per Census of 2011, the least urbanized state of India is :

2011 bt SIoPIUTGH @ AR, MR BT AGA A IGH IA g
[Question ID = 152][Question Description = RO_8_ENG-HIN_Q_152]
1. Arunachal Pradesh/smsurraet ggor

[Option ID = 605]
2. Assam/spma

[Option ID = 606]
3. Himachal Pradesh/faareet ygeor

[Option ID = 607]
4. Uttarakhand/3mrds

[Option ID = 608]



9) Which one of the following scholars introduced the concept of human development?

forratferRaa & A v fcTot of 'Arer™ Rt &I sraemon yzgd o off ?

[Question ID = 153][Question Description = RO_8_ENG-HIN_Q_153]
1. Prof. Amartya Sen/q. swif 3o

[Option ID = 609]
2. Dr. Mahabub-ul-Haq/3f. s1zqa-3ci-a

[Option ID = 610]
3. Ellin C. Semple/uferer 3ft. Jwwer

[Option ID = 611]
4. Ratzel/3rse

[Option ID = 612]
10) Which State of India has the largest area?

fopa1 sl IS BT ST goed 3 7

[Question ID = 154][Question Description = RO_8_ENG-HIN_Q_154]
1. Uttar Pradesh/3az yger

[Option ID = 613]
2. Madhya Pradesh/arer yger

[Option ID = 614]
3. Maharashtra/a@Ric

[Option ID = 615]
4. Rajasthan/zsrzermet

[Option ID = 616]
11) The four most populous States of India are:

IRA D R 3feT SToIAIRT dIcl IS 3:

[Question ID = 155][Question Description = RO_8_ENG-HIN_Q_155]
1. Uttar Pradesh, Maharastra, Bihar, West Bengal/3= yger, #eree, @R, ufer demer

[Option ID = 617]
2. Uttar Pradesh, Maharastra, Rajasthan, Gujarat/3az ygel, seRIC, Aselel, JBRIA

[Option ID = 618]
3. Uttar Pradesh, Bihar,Andhra Pradesh, Tamil Nadu/3e= yger, fd@rR, siit] yger, afiiciens,

[Option ID = 619]
4. Maharastra, Karnataka, Madhya Pradesh, Tamil Nadu/#@Rice, dwotfed, #eRt ygol, dfdicions,

[Option ID = 620]
12) The population growth rate in India is :

R 3 SloRizR gig 52
[Question ID = 156][Question Description = RO_8_ENG-HIN_Q_156]

1. increasing/qs a1 &

[Option ID = 621]
2. Remaining constant /R som &3 8

[Option ID = 622]
3. Declining/ac a1 &

[Option ID = 623]
4. Zero/gpagd
[Option ID = 624]

13) The rural population is identified by their primary occupation. Which one of the following is a primary activity ?

SYEIVT SIGIRASRIT U6l YIeIf3Is RIGIRI A Usdloll SIcdl 3 3 icel 3 forgaifeiRaa 3t 31 dlor-a1 Yrerfdrs wrarr 3 ?



[Question ID = 157][Question Description = RO_8_ENG-HIN_Q_157]
1. Communication and Transport /@Rt 3l uf¥aset

[Option ID = 625]
2. Manufacturing/fafomifor

[Option ID = 626]
3. Research and development /3moitist vd Rt

[Option ID = 627]
4. Agriculture/mf

[Option ID = 628]
14) Which of the following states has the lowest literacy rate in India as per the Census 2011?

2011 &l SIePTE @ 3I1GIAR forFaifciRad 3 A b1 I Bl ATGRAT 52, IR 3 AT DA & ?

[Question ID = 158][Question Description = RO_8_ENG-HIN_Q_158]
1. Rajasthan/zcrens

[Option ID = 629]
2. Jharkhand/zmzs

[Option ID = 630]
3. Chahattisgarh/stfme e

[Option ID = 631]
4. Bihar/f&@r

[Option ID = 632]
Topic:- RO_GEOG_05JAN_SH2_S2
1) World’s largest producer of tobacco is

, fra o1 I19Y 931 darg cucs 3

[Question ID = 159][Question Description = RO_8_ENG-HIN_Q_159]
1. China/da

[Option ID = 633]
2. USA/guae

[Option ID = 634]
3. India/ema

[Option ID = 635]
4. Russia/¥1

[Option ID = 636]
2) Atacama desert is in:

SICIDIAT ABTAC, dAB?

[Question ID = 160][Question Description = RO_8_ENG-HIN_Q_160]
1. Africa/smer

[Option ID = 637]
2. North America/3a3t s@af¥or

[Option ID = 638]
3. North West Asia/3t=-uftisr efdrr

[Option ID = 639]
4. South America/gfér s@if¥amr

[Option ID = 640]

3) Coal and petroleum are huge reservoirs of

DRIcI 3iiT AR , @ fdorret sisr &

[Question ID = 161][Question Description = RO_8_ENG-HIN_Q_161]



1. ozone/ 3isiler

[Option ID = 641]
2. calcium/dfeormr

[Option ID = 642]
3. carbon/mrda

[Option ID = 643]
4. zinc/Sar

[Option ID = 644]
4) Which of the following is a Private sector undertaking ?

forgotferRaa 3 A o forsft 8l @1 vas Sumar & ?

[Question ID = 162][Question Description = RO_8_ENG-HIN_Q_162]
1. BHEL

[Option ID = 645]
2. SAIL

[Option ID = 646]
3. TISCO

[Option ID = 647]
4. OIL

[Option ID = 648]
5) Diversion channels like the ‘guls’ or ‘kuls’ were built for water harvesting in:

'3cA’ 3R ‘oA’ Sl iGaqui¥adl aifdw! sicrriqatiol @ fe1e @al gorars R eft ?
[Question ID = 163][Question Description = RO_8_ENG-HIN_Q_163]
1. Jaisalmer/SRicErR

[Option ID = 649]
2. Jodhpur/sitergz

[Option ID = 650]
3. West Bengal/uf#sat dsrret

[Option ID = 651]
4. Western Himalayas/uf2wft f@amerr

[Option ID = 652]
6) Red Panda is the State animal of which State?

eIret uIvst 363 U5 o1 AsicbRI ugf 3?2

[Question ID = 164][Question Description = RO_8_ENG-HIN_Q_164]
1. West-Bengal/uf2r-gsret

[Option ID = 653]
2. Kerala/dzen

[Option ID = 654]
3. Sikkim/fRifera

[Option ID = 655]
4. Manipur/#foigz

[Option ID = 656]
7) Which of the following is supported by wet, marshy and deltaic soils ?

forgatferi¥aa 3 A Dol 3GAI, Getoell 3R oIdigdl RBrél grRI a3 ?
[Question ID = 165][Question Description = RO_8_ENG-HIN_Q_165]
1. Mangrove/deea

[Option ID = 657]
2. Fir/wz/asr



[Option ID = 658]
3. Cactus/smerwett

[Option ID = 659]
4. Oak/3tw

[Option ID = 660]
8) The cold and dry offshore winds bring the North Eastern monsoons to:

ofit 3iiz 9 3ruee Sil fb ydlaR AeRIel cid? 2 qife9r @wn &

[Question ID = 166][Question Description = RO_8_ENG-HIN_Q_166]
1. Coromandel coast/®RIise Agac

[Option ID = 661]
2. Malabar coast/#rcER AdHgAc

[Option ID = 662]
3. Deccan Plateau/gadel-usr

[Option ID = 663]
4. Tibetan Plateau/ fersacdt-uor

[Option ID = 664]

9) ‘Kaal Baisakh’ is the name of localized thunderstorms, associated with violent winds, torrential downpours, often
accompanied by hails. They occur in which of the following regions of India ?

'®Icl ARG P Feaifora 3ifell St e siict & e diq sard, Frcar auf o sudl 3 sRa @ fopa gia 3 = auf 3t 3 ?

[Question ID = 167][Question Description = RO_8_ENG-HIN_Q_167]
1. Thar desert/emz 3drdrer

[Option ID = 665]
2. Madhya Pradesh/aer ygor

[Option ID = 666]
3. Khasi Hills/zarft varfs=it

[Option ID = 667]
4. West Bengal/uf2r sorret

[Option ID = 668]
10) Which of the following places in India does not have a nuclear power plant?

forgatferiRaa 3 A b1 SPTE UR AN el ARiq odl 37
[Question ID = 168][Question Description = RO_8_ENG-HIN_Q_168]
1. Narora/oRR1

[Option ID = 669]
2. Rawatbhata/zramsmer

[Option ID = 670]
3. Silchar/Breraz

[Option ID = 671]
4. Tarapore/drigz

[Option ID = 672]
11) Which of the following patterns resemble the branches of a tree ?

forgetferlRaa 31 31 PBlel-A1 o13fel gt bl onarsii o AT AR corfar 3 ?
[Question ID = 169][Question Description = RO_8_ENG-HIN_Q_169]
1. Trellis pattern/SIcR[p ool

[Option ID = 673]
2. Radial pattern/feg=ftr stoen

[Option ID = 674]
3. Rectangular pattern/smrRIarmfer sieir



[Option ID = 675]
4. Dendrite pattern/gférr o1aeit

[Option ID = 676]
12) Madhya Pradesh is largest state of India in terms of area.

SIbcT @ efScpIvT A LA YSOI MR DI ARA 31 IS 3

[Question ID = 170][Question Description = RO_8_ENG-HIN_Q_170]
1. 2nd /g

[Option ID = 677]
2. 3rd/dz

[Option ID = 678]
3. 1st /usen

[Option ID = 679]
4. 4th/<iter

[Option ID = 680]

13) Older alluvium forms the largest part of the Northern Plain. This part presents a slightly elevated terrace like feature
known as: -

Jadl dcrofl scird> @1 A frerreT T Yol SIcligm YR O 3 3 HIPT Al SIAT oigell Ygidfa mar 3 RBrY _ I A SIloll ST 3
[Question ID = 171][Question Description = RO_8_ENG-HIN_Q_171]
1. Bhangur/stispe

[Option ID = 681]
2. Bhabar/smaz

[Option ID = 682]
3. Tehri/Rast

[Option ID = 683]
4. Khaddar/zaez

[Option ID = 684]
14) water bodies connect Lakshadweep with Indian mainland.
TS DY HRARI ABIET A __ |, SIAfOIdRI of SiisT 3

[Question ID = 172][Question Description = RO_8_ENG-HIN_Q_172]
1. Bay of Bengal/dsrret &t arst

[Option ID = 685]
2. Arabian Sea/srd JpR

[Option ID = 686]
3. Indian Ocean/fég #BRIPR

[Option ID = 687]
4. Atlantic Ocean /3sieclife® FRIPR

[Option ID = 688]

Topic:- RO_CA_05JAN_SH2_S2

1) Which Indian state has signed MoU with Industries and Business Chambers to promote the MSME sector and provide
employment for migrant workers?

fepa1 sddi 35 of (MSME) 8ie) ol eardr Sol aelr YarRil #sigl ol IASPIR Iuctet! dol B f1u JelPl Ud RATUR Sl @ AT UD AHSIIAI SITUoT
U= EFIGR foven & ?

[Question ID = 173][Question Description = RO_8_ENG-HIN_Q_173]
1. Jharkhand/zmxis

[Option ID = 689]
2. Bihar/fasr

[Option ID = 690]



3. Madhya Pradesh/aier ygor

[Option ID = 691]
4. Uttar Pradesh/3a= ygor

[Option ID = 692]

2) “The Saras Collection” on Government e-Marketplace (GeM) portal has been launched recently. The Saras collection is
the initiative of GeM and which mission ?

BIct 8 3, wor & $-adedr (GeM) i uz ' ARA DA DI YR 5§ 3 ' ARA waagdiel’ GeM &l v usa 3 a6 b sifdRier A
Jdag 3?7
[Question ID = 174][Question Description = RO_8_ENG-HIN_Q_174]

1. Swachh Bharat Mission/zacs s siférmet

[Option ID = 693]
2. Deen Dayal Antyodaya Yojana - National Rural Livelihood Mission/dler criret siceiicRIn Mistol-2recier sypefior sirsfifdrapt froret

[Option ID = 694]
3. Jawaharlal Nehru National Urban Renewal Mission/Srars2etret oig% ailoret 3idfor Stogsiet froror

[Option ID = 695]
4. Skill India Mission /R sfEem froret

[Option ID = 696]

3) Which 'App' was launched by Council of Scientific and Industrial Research (CSIR) to connect farmers to Supply Chain and
Freight Transportation Management System ?

fepareil @1 smgfef gfzaen 3iiR Jirer uf¥aset yetror Yol A slisel @ fere Rl siie AEffbe vs ssde Rrd (CSIR) gRI v origa &t
9311 bl 318 off ?

[Question ID = 175][Question Description = RO_8_ENG-HIN_Q_175]
1. Kisan Seva/fpairer Jar

[Option ID = 697]
2. Kisan Sabha/fds2iror 218

[Option ID = 698]
3. Kisan Dev/fdpzmet ga

[Option ID = 699]
4. Kisan Suraksha/fp2imer 381

[Option ID = 700]
4) What is the theme of 'Good Governance Week 2021'?

'FoIRiol AAre 2021" &1 o= offar 3?7
[Question ID = 176][Question Description = RO_8_ENG-HIN_Q_176]

1. Gaon ka Sushasan/sifa @bt JeiRiel

[Option ID = 701]
2. Prashasan Gaon ki Aur/ygriel sifq < 3l

[Option ID = 702]
3. Prashasan Desh ki Aur/yomiet dor i 3z

[Option ID = 703]
4. Desh Mein Shasan/Jer 3 emier

[Option ID = 704]
5) Recently, who of the following has received ‘Columbia Journalism School Alumni Award'?

are1 81 3, forgatferRaa 3t A fpY "Dicifern Sweifersd Faper vaetens sars’ Bien 37
[Question ID = 177][Question Description = RO_8_ENG-HIN_Q_177]

1. Nirmala Lakshman/fowfer crgaror

[Option ID = 705]
2. Nagarjuna Ravi/eiemsfor 2fd



[Option ID = 706]
3. Malini Parthsarathy/sufereft ureformeft

[Option ID = 707]
4. Siddharth Varadarajan/Rigref aegrsior

[Option ID = 708]
6) Who has been conferred with the 57th Gyanpeeth Award for the year 2022?

adf 2022 o fere fop 574 sierdic grmR A sicidd fovar 3?7

[Question ID = 178][Question Description = RO_8_ENG-HIN_Q_178]
1. Sonia Faleiro/iifor weRt

[Option ID = 709]
2. Damodar Mauzo/grmige st

[Option ID = 710]
3. Pundalik Naik/gusifer® i

[Option ID = 711]
4. Nilmani Phookan/sfiemifor waser

[Option ID = 712]

7) Number of Bharat Ratna Awards given In 2021 is

2021 3 U 31u '"RA Icel GRPRI DI AL ES

[Question ID = 179][Question Description = RO_8_ENG-HIN_Q_179]
1. Zero/gpa

[Option ID = 713]
2. One/vw

[Option ID = 714]
3. Two/ar

[Option ID = 715]
4. Three/dat

[Option ID = 716]
8) Konkan Shakti 2021 is the first ever tri-services joint exercise between India and

@liwur ofts 2021, sRd 3iiz @ i usedl fo]-3ar YD AART 3

[Question ID = 180][Question Description = RO_8_ENG-HIN_Q_180]

1. lIsrael/ssrigc

[Option ID = 717]
2. Mangolia/dsnferRn

[Option ID = 718]
3. United Kingdom/zomses fasesa

[Option ID = 719]
4. Russia/=a
[Option ID = 720]

9) The XXIV Winter Olympic Games 2022 wiil be held in:

244 ofiawicilet sflciftrn et 2022, 3 SIRNfSIA 3ol

[Question ID = 181][Question Description = RO_8_ENG-HIN_Q_181]
1. China/da

[Option ID = 721]
2. South Korea/gféror wif¥er

[Option ID = 722]
3. Japan/smurer

[Option ID = 723]
4. Russia/¥a



[Option ID = 724]

10) In December 2021, Russia wanted NATO and the US to reduce their presence in Eastern Europe as tensions rose over
Ukraine. What does NATO stand for?

ez 2021 3, YBoTUR Aol Gl D PRUI, WA Al AT 5 Ju=t. iz NATO &l cxacsicrsit aa a1 NATO guf u 3 :
[Question ID = 182][Question Description = RO_8_ENG-HIN_Q_182]
1. North Atlantic Truce Outfit

[Option ID = 725]
2. North America Truce Operation

[Option ID = 726]
3. North Atlantic Treaty Organization

[Option ID = 727]
4. North America Treaty Organization

[Option ID = 728]

11) Recently, Jyoti Surekha Vennam has bagged a silver medal in the Women's Compound event in World
Championship.

arc1 & 3, sfer F3ar Jurd of fea AftReIfon 3 #Afdensii bt durss yfernBar 3 wsia uee sftar 3
[Question ID = 183][Question Description = RO_8_ENG-HIN_Q_183]
1. Tennis/2fora

[Option ID = 729]
2. Squash/I®mdar

[Option ID = 730]
3. Archery/d3esit

[Option ID = 731]
4. Shooting/foromorarsit

[Option ID = 732]

12) With which of the following organization, NITI Aayog has partnered to launch 'Shoonya' Campaign for zero-pollution
delivery vehicles?

siifer smeNeT of fogaiferlRaa 3t A fopar FoIo01 B AT YoA-YgHuT fAaRvT arsell @ fére "gfgwr’ if¥RIeI YR 2ol @ fore ARRt &t 37
[Question ID = 184][Question Description = RO_8_ENG-HIN_Q_184]
1. Tesla/ezen

[Option ID = 733]
2. Tata Motors/erer ditcst

[Option ID = 734]
3. Solar Energy Industries Association/3itz 3sif 3eier e

[Option ID = 735]
4. Rocky Mountain Institute/3fr smcar s3dice

[Option ID = 736]
13) Recently for the first time between India and which country, “Al-Mohed Al-Hindi-2021” exercise will be organized ?

aIc 3, Uscll arR $Rd 3z b Sor & o "srar-aidlc-3rer-12¢61-202 1" 391 meNfora fosem srm 3 ?

[Question ID = 185][Question Description = RO_8_ENG-HIN_Q_185]

1. Bahrain/ag3er

[Option ID = 737]
2. Oman/sieret

[Option ID = 738]
3. UAE/3es

[Option ID = 739]
4. Saudi Arabia/3d} sra

[Option ID = 740]



14) With which country India recently signed an agreement on a three-year Joint programme in the Agriculture sector?

$IRA of fpT SO B AT, Bl 3, DY &g A facil g PRIGA D WA U= sAIgR o 8 ?

<

[Question ID = 186][Question Description = RO_8_ENG-HIN_Q_186]
1. Israel/ssrrer

[Option ID = 741]
2. Iran/sar

[Option ID = 742]
3. Saudi Arabia/3¢t sra

[Option ID = 743]
4. UAE/ged

[Option ID = 744]

Topic:- RO_UP_5JAN_SH2_S2

1) Which magazine is launched by the Bureau of Uttar Pradesh for Agriculture related information?

=P 3B IR YSI TRI, DI B AdiRd Jareisii & fere wlor-21 ufdet yw1idra & a8 3 ?

[Question ID = 187][Question Description = RO_8_ENG-HIN_Q_187]
1. Sinchai aur Krishi/Riars siiz ot

[Option ID = 745]
2. Krishi aur Urvarak/oft siiz 3de®m

[Option ID = 746]
3. Krishi aur Pashupalan/aft sfiz ugpurctor

[Option ID = 747]
4. Pashupalan aur Gehun Utpadan/ugjurctet 3ii2 318 Scurcor

[Option ID = 748]
2) In which of the following places is the oil refinery situated in Uttar Pradesh ?

forgotferR3aa Fermeil 3 A IR ggor 3 dd Nwrserst wer safyerd & ?
[Question ID = 188][Question Description = RO_8_ENG-HIN_Q_188]
1. Mirzapur/fsiigz

[Option ID = 749]
2. Mathura/sger

[Option ID = 750]
3. Varanasi/armrft

[Option ID = 751]
4. Agra/smRI

[Option ID = 752]

3) Which of the following districts of Uttar Pradesh has no forest land ?
Iz Y9I @ foreiferlB3aa ot A fooa 916z 3 dof 8Xq oidl 3?7

[Question ID = 189][Question Description = RO_8_ENG-HIN_Q_189]
1. Jhansi/siift

[Option ID = 753]
2. Mirzapur/fBrcig

[Option ID = 754]
3. Jaunpur/silelgz

[Option ID = 755]
4. Hamirpur/ssge

[Option ID = 756]

4) Which one of the following States does not share the border with Uttar Pradesh?



forgoiferiRaa 3 3 Dlol-AT ASA IR YS9I D AT 3Uoil AT AT o181 D2er ?

[Question ID = 190][Question Description = RO_8_ENG-HIN_Q_190]
1. Uttarakhand/3mrds

[Option ID = 757]
2. Bihar/fdsr

[Option ID = 758]
3. Chhattisgarh/sdiee

[Option ID = 759]
4. West Bengal/ufar dairet

[Option ID = 760]

5) Mirzapur is famous for which of the following handicraft industry?

RBreifge fepar srafdreu o fere ylRg 3 ?
[Question ID = 191][Question Description = RO_8_ENG-HIN_Q_191]
1. Silk/3em@

[Option ID = 761]
2. Chiken work/ ot aern

[Option ID = 762]
3. Carpet work/rcftor-asenr

[Option ID = 763]
4. Brass utensil/dider ador

[Option ID = 764]
6) Which one of the following cities is not on the ‘Grand Trunk Road’?

forgotferRaa & A Pl '3fs ¢b A’ D dad o1t st ?
[Question ID = 192][Question Description = RO_8_ENG-HIN_Q_192]

1. Lucknow/crxierss

[Option ID = 765]
2. Kanpur/®roig2z

[Option ID = 766]
3. Prayagraj/gQRIeRrst

[Option ID = 767]
4. Aligarh/sicfiorg

[Option ID = 768]
7) Name the Nawab of Awadh who was a great patron of Kathak.

el & IA ofdid Bl ol IAIST SIl BAD DI Hlol AIGID eT?

[Question ID = 193][Question Description = RO_8_ENG-HIN_Q_193]
1. Muhammad Ali Shah/#s#G sicll oms

[Option ID = 769]
2. Wajid Alii Shah/aifSig sicft oms

[Option ID = 770]
3. Saadat Ali Shah/zea sicft ons

[Option ID = 771]
4. Amjad Ali Shah/sprs sl o

[Option ID = 772]

8) Recently, foundation stone of Ganga Expressway Projects has been laid down in Uttar Pradesh State, which will be
Km long.

BIct 8 3, 3a2 YS9l IS B sioN TaAyA d ulRilsienr & smerfdren =it o1 3, ac fop.3ft. ciar Som



[Question ID = 194][Question Description = RO_8_ENG-HIN_Q_194]
1. 590

[Option ID = 773]
2. 594

[Option ID = 774]
3. 584

[Option ID = 775]
4. 599

[Option ID = 776]
9) Which of the following is authored by famous poet Jayasi ?

, AR ofd IrRRft gRI Mra o 8 ?

[Question ID = 195][Question Description = RO_8_ENG-HIN_Q_195]
1. Padmawat/usmaa

[Option ID = 777]
2. Abhigyan Shakuntlam/siférsirer onaacis

[Option ID = 778]
3. Vinay Patrika/fderr ufefer

[Option ID = 779]
4. Meghdoot /dmga

[Option ID = 780]

10) Recently, foundation stone of a University in the name of Raja Mahendra Pratap Singh has been laid down in Aligarh,
whose father's name is

aIct 8l 3, srcliorg 9182 3 IS Adog Yyaru Riz @ oIl UR v fopafdencrr & smerfdrer 3l o8 3 forord firar ot sier 2

[Question ID = 196][Question Description = RO_8_ENG-HIN_Q_196]
1. Raja Krishnapal Singh/zmn owie RBis

[Option ID = 781]
2. Raja Vir Pratap Singh/2men @2 yamu Ris

[Option ID = 782]
3. Raja Ghanshyam Singh/3mn @oteams Ris

[Option ID = 783]
4. Raja Ravindra Pratap Singh/3mer ¥dleg yamu RBis

[Option ID = 784]
11) Which one of the following is mismatched?

forgoifeiRaa & A dler-AT ALy 3Rds1a 37

[Question ID = 197][Question Description = RO_8_ENG-HIN_Q_197]
1. Birbal Sahni Institute of Palaebotani - Lucknow/freet 3msoft sfozecye sife Uckdicott - crRaerss

[Option ID = 785]
2. Central Building Research Institute - Varanasi/3iger fafessr f3rd sfoeece - armurit

[Option ID = 786]
3. Indian Institute of Technology - Kanpur/3femer sfozecz]e sifw eapoiiciistt - drolge

[Option ID = 787]
4. Acharya Narendra Dev, University of Agriculture and Technology - Ayodhya/smarf si3g Sa gferaf3ict siie wsfibeaz vos eapoliciisft - SRieT

[Option ID = 788]
12) Which city of Uttar Pradesh is famous for its marble ?

IR YS9l DI blol-AT 9182 Yol IHoERIR D fere glRig 8 ?

[Question ID = 198][Question Description = RO_8_ENG-HIN_Q_198]
1. Agra/smRI



[Option ID = 789]
2. Lucknow/crxaeis

[Option ID = 790]
3. Mirzapur/Brig

[Option ID = 791]
4. Meerut/ds

[Option ID = 792]
13) Which one of the following is not established by Mughal Emperor Akbar ?

FITCT OIRID AP o, forgarfeiRaa 3 A = renfira ordl v s e ?

[Question ID = 199][Question Description = RO_8_ENG-HIN_Q_199]

1. Rambagh /3@t

[Option ID = 793]
2. Jahangir Mahal/seRfiz aect

[Option ID = 794]
3. Agra Fort/3mrRr B¢

[Option ID = 795]
4. Akbar Fort/smpaz foser

[Option ID = 796]
14) Who among the following artists of Uttar Pradesh have received the Bharat Ratna?

IR g oI d forscifciRaa & 3 a1 welrpR @1 MRda ¥cat f3rer 87

[Question ID = 200][Question Description = RO_8_ENG-HIN_Q_200]
1. Ustad Bismillah Khan/3zare faf3arcen arer

[Option ID = 797]
2. Birju Maharaj/frs] s8Rt

[Option ID = 798]
3. Begum Akhtar/dsm1 ez

[Option ID = 799]
4. Zohra Sehgal/siB @siet

[Option ID = 800]






